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Tournaments vs. Cash

Games




Tournaments

Fixed buy-in for a certain
amount of chips

Play until you lose all your
chips

Blinds keep increasing, so
eventually you lose all your
chips

No control over your table
Goal is to survive

Frequent but fixed losses
accompanied by the occasional
big win

More variance

Fun?

Wider range of situations (# of
players at table, stack sizes,
antes, bubbles)

Low house rake (premium)

Start with any amount of money
you want; reload anytime

Start and stop anytime

Fixed blind amount (say $1/%$2)

You choose your table
Goal is to kill

Big wins, small wins, small
losses, big losses can all
happen

Less variance
Work?

oUThUMERTS.

High house rake (premium)



Why we chose tournaments

» Less metagaming
» More exciting

» Wider range of scenarios

» More applicable?




Our club has both

Club Manager: Wei Ma (CutiePi314

Club Home || Schedule

un Aludra
Fun Bolzano

Results

MIT 15.550 4 *% )

Established: November, 2011 Members: 40 Club ID: 557832

Standings

(' Optlons [ Manage Games | | Manage Club

Game

Club Tables

Go to Table...
Share Table

Seat Me...

| Enrolled Club Tournaments

Hold'em
Hold'em
Hold'em
Hold'em

Hold'em
Hold'em
Hold'em
Hold'em
Hold'e

Compl
Compl
Compl
Compl

eted
eted
eted -
eted = Share Tournament

Tourney Lobby...

Running

Registering

Registering

Registering 2 !
e 1
D ee?® 00 W Show registering/upcoming only




But only tournaments count for
standings

MIT 15.S50

Club Home | Schedule | Results [

Club Standings | Real Money . 7P|aY MONEY’ | Sk8er

3 1 sant’egidio a. vi.
Season7 ( January, 2016 ) + i Rendice... | ﬁ
e e el e,
1 5kBer »

abd94 Season Statistics ( Real Money )
ABoros_MIT
achenb Total Points: 0 (0 PPG)
ACollins_MIT Games Played: 0, 0 win(s)
AdamT _MIT Finishes: Best Place: 0 of 0
ADeNucci_MIT Worst Place: 0 of 0
AdlianG_IﬁIT In The Money: 0 out of 0 (0%)
Adrian_MIT [Gold] x 0
AHawkins_ MIT [Silver] x 0
ahchang_MIT [Bronze] x 0
ahessMIT K Knockouts: 0
AiryDhey e
ajlynch402 tows
AKaplan_MIT
akmartin_ MIT
ALabelli_MIT
AlbertM MIT

* Points are only awarded in tournaments with four or more players.




Preflop Percentages
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Some preflop numbers to
memorize

» Bigger pair vs. smaller pair: 80/20
> AA vs KK: 81.9%
- AA vs 88: 80.5%
> 33 vs 22: 80.4%

» A pair vs. zero overcards: 80/20
- AA vs AKo: 93.2%
- AA Vs 65s: 77.5%
o JJvs T9s: 81.7%
> QQ vs 740: 84.8%
o KK vs K20: 94.6%
o KK vs K2s: 89.2%




Some preflop numbers to

memorize

» A pair vs. one overcard: 70/30
- QQvs AJo: 71.7%
> QQ vs AJs: 68%
- QQ vs AQs: 65.7%
- 88 vs A20: 70.2%
> 33 vs A20: 68.8%

» “Dominating” the other person: 70/30

> AKo vs AQs: 70.1%
> AKs vs AQo: 75.4%
- AKo vs AQo: 74.4%
> AKo vs KQo: 74.8%
> AJo vs A20: 72.6%

- A8o vs A20: 65.7%
> A50 vs A20: 56.2%




Some preflop numbers to
memorize

» Two overcards vs. a pair: 50/50
> AKs vs 22: 49.9%
- AKo vs 22: 47.4%
- AKo vs QQ: 43%
> T9s vs 22: 54%




A>B>C>D

» AB vs CD: 60/40
> AKs vs 76s: 61.1%
- AKo vs Q70: 67.7%

» AC vs BD: 60/40
> AQo vs K9s: 60.1%
- K70 vs J30: 63.7%

» AD vs BC: 60/40
- A20 vs K30: 61.4%

> A20vs T9s: 51.6%
> AJs vs KQs: 59%




The importance of suitedness

»

Remember some numbers:

- AKo vs AQs: 70.1%

o AKs vs AQo: 75.4%

o AKo vs AQo: 74.4%

Suitedness changes your equity so much when you’re
behind! Whereas it changes your equity much less
when you’re ahead.

WhenJou’re the one going all-in, you will usually be
behind when called. Thus, suitedness matters so a
IOP;[’ bcfcause it gives you additional ways to pull
ahead.

When you’re the one calling, you’ll usually already be
ahead, so suitedness matters less.

(Suitedness also matters a lot for postflop play.)




Preflop All-ins
.
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Preflop Study

» These are not highlight-reel plays and could
be considered “boring”

» But it’s the routine boring decisions that
determine your win-rate, not the occasional
brilliant insight




Don’t be afraid to go all-in preflop

» Late in tournaments, with the addition of
antes and declining stack sizes, winning the
blinds and antes is so valuable.

» What you gain is so large relative to what you
lose.

» Remember Lesson 1: “Any 2 cards have a
chance against any 2 other cards preflop”!

» Of course. don’t take this too far




Remember the rule

» Always just go all-in if you’re gonna play the
hand at all, when:

- Effective stack size <= 12BB, with antes
- Effective stack size <= 10BB, without antes




Small Blind All-in Percentage

» Recall that we said your BTN opening range
should be similar to your SB opening range.

» However, for all-ins, your SB opening range
can be a lot wider, since position doesn’t
matter.

» Also, | would go all-in with up to 15BB with
antes, 12BB without antes.




Review of Theory: Do you go all-in or fold?
(Suppose we are reasoning exploitatively.)
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http://ocw.mit.edu/help/faq-fair-use/
http:PokerStars.com

Exploitative Reasoning

» Is the BB a gambly player? Is it likely that he
or she will call with a wide range of hands?

» How have | been playing? Do | look like a
crazy all-in monkey, or will my all-in get the
credibility of a very good hand?

» (Suppose it is far from the pay bubble.)




Analysis

» Let’s suppose the BB calls a “reasonable” range:
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Do the math

» 75% of the time, he folds, and we win 2.5BB’s

» 25% of the time, he calls,

- 36% of the time, we win the all-in and win 16.5BB’s
- 64% of the time, we lose the all-in and lose 14.5BB’s

» 0.75(+2.5) + 0.25(0.36(+16.5) + 0.64(-14.5))
» =0.75(+2.5) + 0.25(-3.34)

» Clearly positive.

» =1.04BB

4

You're making an entire big blind by shoving
instead of folding! We really are maximizing our
expected # of chips by shoving!




If we had the worst hand
possile...
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Do the math again

» Now we have 28% equity, instead of 36%
equity, against his calling range

» Expectation when he calls:
> 0.28(+16.5) + 0.72(-14.5) = -5.82

» Overall expectation:
> 0.75(+2.5) + 0.25(-5.82)

» Still postive! This shove is an EXCELLENT play
that earns you 0.42BB’s, not a “crazy bad”
play. We are still earning positive
chips/money!




The point?

» If you’re only calling this 25% from the Big Blind
in this situation, then you’re allowing the Small
Blind to shove any 2 cards profitably.

» Let’s suppose we consider adding QJo to our
calling range. We need to call 14BB to win a total
pot of 31BB, so we need 45% equity.

» Nonetheless, since most Small Blinds don’t shove
enough, we might not actually have this!




More math

» Let’s assume that the Small Blind only shoves
the top 25% of hands (instead of 100%, which
includes 320).

Player 1 ﬂ 66+ A2s+ KB+ 08s+ 185+, T8s+ Afo~ [57.774%

» Your equity with QJo: i Lo

» You only have 42% equity. Not enough to call
the all-in!




Iterative Best Response

» BB calls only 25% of hands
» To exploit this, SB shoves with 100% of hands

» To exploit this, BB calls with a very wide range (say
67%)

To exploit this, SB shoves 40%
BB calls 30% (too low)

SB shoves 80% (too high)

BB calls 50% (too high)

SB shoves 50% (too low)

Etc.

vV Vv Vv VvV Vv Vv




Let’s take a look at the Nash
ranges

» SB 66.8%, 22+ Kx+ Q2s+ Q50+ J2s+ J70+
T2s+ T70+ 93s+ 960+ 84s+ 860+ 73s+
/60 63s+ 650 53s+ 43s

» BB 38.5%, 22+ Ax+ K2s+ K50+ Q6s+ Q80+

J8s+ JTo T9s




When to use/not use this

» This is a potential formula to follow, when
figuring out which hands to go all-in with from
the SB, and which hands to call with from the BB.

» However, if the BB is calling way fewer than 38.5%
of hands, then as SB you can go all-in with a lot
more than 66.8% of hands.

» If the SB is going all-in with way fewer than
66.8% of hands, then as BB it is a huge mistake to
call with as much as 38.5% of hands.




But it’s an equilibrium...

» If the SB is going all-in with 66.8% of hands,
then the optimal strategy for the BB is go call
with 38.5% of hands.

» If the BB would call an all-in with 38.5% of

hands, then the optimal strategy for the SB is
to go all-in with 66.8% of hands.




Learning the Ranges
a




How to learn the ranges?

» Memorization

» Understanding theory

» Extrapolation




A few more nash ranges

» BTN, 10BB
- 43.9%, 22+ Ax+ K2s+ K6o+ Q5s+ Q90+ J7s+ J90+
Te6s+ T90 96s+ 980 85s+ 75s+ 65s 54s
» CO, 7BB
- 38.8%, 22+ Ax+ K2s+ K9o+ Q5s+ QTo+ J7s+ J90+
T7s+ T90 96s+ 86s+ 75s+ 65s 54s
» L], 1T0BB
© 23.4%, 22+ A2s+ A8o0+ K7s+ KJo+ Q8s+ QJo J8s+
JTo T8s+ 98s

» UTG (9 handed), 3BB

- 24.1%, 33+ A2s+ A8o+ Kbs+ KTo+ Q8s+ QTo+
J9s+ JTo T9s




UTG All-Ins (approximated for
pedagogical reasons)

» 15BB: 6.2% 10BB: 13.4% 5BB: 33.3%

(R o v | [ e s R [ e e s e s e
_IIEII_ PEEEER | | | WRCEEEEEE | [ ] ]

40| o] o o] o] oa | s ors| 68 1 7] G 8] o o] s s | | | s 5 6
o] o s 1 i I e R 0 0 I G N S
ATo | KTo |aTo _nl ATo| KTa|@To Ell_ Ell:

o o o elelmm (el
Ao | Keo |20 ABo | K8o | Q8o 8o | T8o Ao | K80 | @80 4 Ellﬁ
ATo | Ko | Q70| 470 | T70 A?ux?nmnﬂnma?o_"_
AGo | Keo | @60 J6o | 6o ?KﬁnﬂﬁnJﬁnTﬁn!ﬁnﬂﬁnHl_
a&muﬁn&mﬁsﬁn?ﬁnﬂlﬁﬁ Aso | K50 | @50 | J50 | T50 | 950 | 850 | 750
Ado | Kéo | Qo | J4o | To | 940 | 840 | 740
(2% K30 | @30 | 430 | T30 | 930 [ 830 | 730 | 63
%K&:ﬂamm%s&:ms&:ﬁ%ﬂlﬂ




Another example of extrapolation:
H)

» 15BB: 23.4% 10BB: 28% 5BB: 50.4%
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Big all-ins with small pairs

» Small pairs, while having good implied odds
when very deep (“set mining”), have terrible
implied odds when 15-20BB deep

» Therefore it is encouraged to go all-in with
them even with more than 12BB




28 3 . § LEAVE TABLE

T gee—
%,11)110_{___4J.~¢;3_.' VIEW LOBBY

/‘ 1 HJ

$12000

HJ
$2400 $12000

SB
$11600

Chat [Notes |Stats ¥ Info

UTG is All-in




-
E

: 'ol?l“"";' T
- UTG+1

$12000 |

BB ‘ H[i' Fioo)
§2400 |

$400

28 3 . § LEAVE TABLE

®

SB
$11600

o7

Chat [Notes |Stats ¥ Info

HJ2 ' _
§ VIEW LOBBY

__$12000

HJ
$12000




AXx suited

» AX suited is a lot better of a hand than it
looks for going all-in preflop

» The Ace removal is also relevant
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AXx offsuit

» Ax offsuit also has terrible implied odds, so
going all-in for more than 12BB is okay

» It also protects your small-pair shoves a bit
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Small cards

» 765 is similar to a small pair in that it has
great implied odds when very deep, but
mediocre implied odds when 15-20BB deep

» Once again, just going all-in is acceptable




Not a good all-in
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Pay attention to other stack sizes
in tournaments!

» The Big Blind only has 3BB and is guaranteed
to call

» Even if they call with a “worse” hand, you’'re
much better off having a chance of winning
the blinds for free




Curves for

Extrapolation/Interpolation




Caveat

» The next 2 slides both contain "ambitious,
exploitative” ranges that are more applicable
to situations with lots of beginners where
everyone folds too much.

» They are more aggressive than Nash and can
be exploited.




The most # of BB’s I’'m willing to go all-
in for from each position, with A4o.
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The most # of BB’s I’'m willing to go all-
in for from each position, with 76s.
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Note the difference in the curvel

» With A4o, the maximum # of BB’s | could risk
declined drastically with each position,
because when you get called, you are usually
so far behind.

» With 76s, the maximum # of BB’s | could risk
declined slower with each position, since it

does relatively better against the monster
hands.




Getting it in when really

short

3




Don’t fold with ridiculously good
odds preflop!

» “Any two cards have a chance against any two
other cards preflop”

» It is difficult to have less than 30% equity
preflop no matter what cards you have,
unless your opponent is raising from early
position

» It is difficult to have less than 30% equity
preflop if you have an Ace in your hand, even
if your opponent’s range is really strong
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We only need 37% equity to call
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Analysis

» Any hand we would raise from here in the
first place, we have enough equity to call.




We have 4BB’s in the Big Blind
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We go all-in, knowing he will call
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He calls, as expected.
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Analysis

» If we go all-in for 4BB’s we know we will get
called

» But still, we would be risking 3BB’s to win a
total pot of 9.5BB’s, so we need just under
33% equity

» Assuming he raises the top 20% of hands
(which is a pretty tight player), we are still
34% against his range




Re-raising Preflop
iy




Too much of this...
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And this...
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s THIS so
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But THIS okay?
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When you get caught in the first
case, there iS ho escape anyway
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Analysis

» Need to call ~8BB to win a total pot of
~22.5BB (10+10+1+0.5+1)

» Only need 36% equity

» You definitely have this with ATcc, so you're
basically committed

» Your equity against 66+,A)J+,KQ is 39%
(Pokerstove)




The point?

» Recall the “Sweet Spot” Theory:

> The reason for raising small is to ESCAPE when you have a
bad hand. ATs is definitely a “bad hand” in your range: in
fact, it’s the worst hand in your range of
/7+,ATs+,AJo+,KQ.

- The reason for raising big is to disallow the Blinds to have
such good odds to call and defend against you stealing.
But we just proved that you CANNOT ESCAPE anyway!
So you might as well raise AS BIG AS POSSIBLE ie. all-

In.

Sure, you can raise to 4BB (out of your 10BB) to deny
your opponent good odds, but this is still worse than
just going all-in (although mostly equivalent).

v Vv

v




The second case...
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Analysis

» Need to call ~ 17BB to win a total pot of ~
40.5BB (19+19+1+0.5+1)

» Need 42% equity

» You definitely don’t have this, so you can
“escape” and fold




Call or Re-raise?

» In the first class, we only covered how to
“open” preflop, ie. raise if no one has yet
entered the pot.

» What happens if someone has already raised
(or didn’t follow my rules and called aka.
“limped”)?




Re-raise Sizing

» Same principles apply:
- Advantage of re-raising to a small size: risk less
when you intend to fold your hand to a re-re-raise.
- Advantage of re-raising to a large size: deny your
opponent the odds to call profitably.
- |f your re-raise size would cause you to commit

over a “critical portion” of your stack such that you
cannot escape, then just re-raise all-in instead.




This is disastrous! He needs to call 1.5BB to win 9BB
(2.5+4+1+0.5+1). You're giving him 6-to-1 odds!
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He needs to call 3000 to win 9100 (2000+5000+800+400+900). 3-
to-1 odds, much less ludicrous!
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Changes in “critical portion”

» This “critical portion” gets smaller as ranges
get stronger:

> | told you to go all-in when you have 15BB or less.
Essentially what I’'m saying is, “commiting 2BB of
your 15BB in a min-raise is already a critical
portion” (13%).

- If you are re-raising pre-flop, I’d say you need to
commit 25% before it’s critical.

> So in the previous hand, if you had 20000 chips or
less, I'd just go all-in instead.
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Why is calling a preflop raise okay?

» Recall that | said you should never just call
preflop, if the pot hasn’t been raised yet.

» But, if the post HAS been raised, like in the
previous example, then just calling is okay.

» Why is this?

» The big blind can put in another raise preflop
when he has a good hand, even if you limp.

» The first preflop raiser does NOT get to put in
another raise preflop if you don’t re-raise him.

» While limping has NO advantages, calling a

preflop raise has SOME advantages. So it is
sometimes a viable option.




In position with a hand that plays
WeII in a multlway pot...lt S aII good
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Disaster!
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How to deal with callers?

» Even though I’'ve explained why you should
never be just calling when the pot has not
been raised, people will inevitably still make
this mistake.

» We call such people “limpers”, usually a
derogatory term.

» Either way, you need to be prepared to
punish such people and raise their limps.

» But, you need to be aware that you should
change your raise size.

» Be wary of the limp-raise.




If you follow the “raise to 3BB” rule, you’re
giving the limpers too good a price to call!
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Not just 3BB...3BB+1BB for each
limper = 6BB
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Keeping it Simple
n,

T



Suppose | am too scared to go all-
in... can | raise to 2BB as an
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Let’s put ourself in BB’s shoes...

» If we go all-in, BU will need to call 6 to win a
pot of 17.5, so he will call so long as he
thinks he has at least 34% equity against our
range.

> So he will pretty much always call. ("When given 2-
to-1 to call a pre-flop all-in, you can pretty much
always call unless you are guaranteed to be a 70-30
or worse.”)

» When we go all-in, assuming BU calls, we
risked 7 to win a pot of 17.5, so we need 40%
eauitv for this to be profitable.



Analysis as the

» If our hand has 40% equity vs. BU’s range,
then going all-in is +EV.

» If our hand doesn’t have 40% equity vs. BU’s
range, calling could still be +EV, since we are

given 4.5-to-1 to see the flop.

» Even if our hand has 40% equity vs. BU’s

range, calling could be more +EV than going
all-in.




Strategy for BB

» If our hand has more than 50% equity vs. BU’s
range, then it is most likely in our interest to get
all-in instead of just calling, since it is in our
favor to put money in 1-to-1.

» If our hand has
range, then it is
call, even thoug

ess t

nan 50% equity vs. BU’s

most likely in our interest to just

1 we

nave Reverse Implied Odds

postflop from being out of position.

» Even if our hand has less than 40% equity vs. BU’s
range, as long as it has more than ~30% equity, it
is probably +EV to call given 4.5-to-1 odds to
see the flop.




Big Lesson

» None of these opportunities for the BB
would’ve arisen had the BU just went all-in in
the first place!

» The BB would’ve just had to call the hands
with 40% equity, and fold the rest.

» But now, we’re allowing the BB to still get the
money in when he has 50%+ equity, play any
hand with ~30% equity, etc.




What about raising to 4x?
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Analysis

» If the BB were to fold, then raising 4x is
equivalent to going all-in.

» If the BB were to re-raise all-in himself, then
raising 4x is equivalent to going all-in (since
we are going to call his re-raise).

» Are there situations where the BB is better off
calling, and folding some flops? Probably
not, since the pot will be 1880 on the flop
where each player has 800 left. So the BB
calling is equivalent to the BB re-raising all-
in, since no player is ever folding postflop.




Sucker Raise

» However, the analysis for the last bullet is hard.
Maybe there are some opportunities for the BB to
squeeze extra EV with a few of the hands in his
range, but just calling preflop.

» Going all-in gives the BB strictly fewer options,
so it is the “right” play.

» For raising to 2x or 3x or 4x to be a better play
than going all-in, the BB has to be SO STUPID

that having more options will somehow cause
him to make a worse decision. This is the same
concept as what Bill Chen called a “sucker bet” in
his lecture.




Don’t do anything funny!

UTG+1

SB
$6600

Chat

[Notes | Stats ¥ Info

LEAVE TABLE

=% VIEW LOBBY

HJ-1
$45400

®

oo ,
. L) —/

$900
HJ

___$2000
of |

/ CO
' . $12000

A

BTN

| $13000




i | LEAVE TABLE
HJ-2
§4200¢

§ VIEW LOBBY

HJ-1
$45400

. &
§00)
. - - .

L2001
$900 = — ,
i) HJ }

= $2000
D mi] $12000
‘ti“lim 6 kn

A

BTN
$13000

Chat [Notes |Stats ¥ Info

CO is Alkin




Don’t be afraid to defend against
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Again, don’t do anything funny, especially when your
opponents are already given such good odds to call
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“Squeeze-play” all-in.
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